do / dAnF [mb]

Ratio to ATLAS

=
o
w

=
o
N

10

0.5

Soft QCD

7000 GeV pp

Rapidity gap size(pT > 0.2, h| < 4.9)

Rivet 3.1.10, = 400k events

= B =
= -
B ."\.... _]
Y HEHE
= i:;.m.. Eﬂ'mm Elﬁ]m =
— R ERnnnnoes E}E}EFEEHH "\ =
— [ KN 5] ]
_ n ..' _ \ _]
— KN (3] -
— .. . -
| "t.,’. HEET
= K =
= 'y ’__’..’ =
~ W ATLAS o -
| --3-- Herwig 7.0.0 default ' &¢ R
— ¢ Sherpa 2.1.1 default S S E
= I TS R S A NN W S S R S S =
:l T T T |/|$_J T T T | T T T | T |l T T |:
- & ': -
- ) [ﬁ’ -
: "‘""/I ‘.“~ ll :
i S o .
.."- ,E/'I '.“‘ Ill
| .-":,I}j, ’ '.‘ :
* ',
C @ (Y '. 7
i\ |I
| . . . | . . S . . . | . L |
0 2 4 6 8

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


